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(c) You can measure temperature in °C or in °F

The diagram shows how to change °F to °C

Subtract 32,

then multiply the answer by 5,

then divide by 9

The highest temperature ever recorded in a human was 115.7°F

What is this temperature in °C?

Show your working.

\
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12. (a) A glass holds 225ml.

An adult needs about 1.8 litres of water
each day to stay healthy.

How many glasses is that?

Show your working.

(b) An adult weighs 80kg.
60% of his total mass is waf

What is the mass of this water?

225ml

kg
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10.

\

Steve needs to put 1 litre of water in a bucket.
He has a 500ml jug.

Explain how he can measure 1 litre of water.

ol
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12 Here are the ingredients for a cordial used to make a drink.

509 ginger

1 lemon
1.5 litres of water

900g sugar

(a) Jenny is going to make this cordial with 26g of ginger.

How much lemon, water and sugar should she use?

ginger

lemon

litres of water

sugar

(b) The finished drink should be ! cordial and 2 water.
Jenny puts 100mi of cordial in a glass.

How much water should she put with it?

ml

+ ek
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A box contains bags of crisps.

Each bag of crisps weighs 26 grams.

Altogether, the bags of crisps inside
the box weigh 1 kilogram.

How many bags of crisps are inside the box?
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\

Steve needs to put 1 litre of water in a bucket.

He has a 500ml jug.

Explain how he can measure 1 litre of water.
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Here are the ingredients for a cordial used to make a drink.

50g ginger
1 lemon
15 litres of water

900g sugar

(a) Jenny is going to make this cordial with 25g of ginger.

How much lemon, water and sugar should she use?

25g ginger

\ lemon
litres of water ok
9 sugar (e

(b) The finished drink should be § cordial and 3 water.
Jenny puts 100ml of cordial

a glass.

How much water should she put with it?

ml
Vinik
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A box contains bags of crisps.

Each bag of crisps weighs 25 grams.

Altogether, the bags of crisps inside
the box weigh 1 kilogram.

How many bags of crisps are inside the box?
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11. (a) 1 weigh a melon.

|\H|\\\|H\“H‘“i‘Hl‘HI|\H|H\|H\‘IH‘HI‘HI|HI|\H|IH‘IH‘III‘HIWI|
200 600 1000 1200 1400 1600 1800 2000

grams

Then | weigh an apple and the melon.

&,

|\H|H1|IH\IH\]IIUII\HI|H\|IH|IH‘IHUII\HI|HI|HY|IH\IHHIIUIIUW]
200 600 1400 1600 1800 2000

grams

Write the missing numbers in the sentences below.

\

The melon weighs grams.

The apple weighs grams.

(b) How many grams are in one kilogram?

Put a ring round the correct number below.

\

1 10 100 1000 10000

Ymank

ek

ek
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a.

(a) I weigh a melon @
Y= 7

|\\\|H\|H\||H|H\|H\‘H\‘IH‘H\‘IH‘IH‘IH‘H\‘\H‘HWII“II“II‘HI‘HI|
400 600 800 1200 1400 1600 1800

grams

Then | weigh an apple and the melon

|\H|H\|H\|IH|H\|H\‘H\‘IH‘H\‘IH‘IH‘IH“H‘\H‘HWII“II“II‘HI‘HI|
400 600 800 I 1200 1400 1600 1800 .

grams

Write the missing numbers in the sentences below.

The melon weighs grams.

The apple weighs grams.

(b) How many grams are in one kilogram?
Put a ring round the correct number below.

1 10 100 1000 10000
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17 Each year, there is a tennis competition in Australia and another one

in France.

The table shows how much money was paid to the winner of the

men’s competition in each country in 2002.

Country Money
e 1000000 Australian dollars
Riichs (€1 =2.70 Australian dollars)
oo 780000 Euros
o, (€1 =154 Euros)

Which country paid more money?

You must show your working.

\

Tick (v') the country that paid more.

\ Australia

France
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12, The table shows the average length of pregnancy for different mammals.

s vy
Dolphin 276 days
Horse 337 days |
Seal 350 days. |
Whale 365 days |
Elephant 640 days |

Use the information in the table to answer these questions.

(a)  Which mammal has an average length of pregnancy of 1 year?

\

() Which mammal has an average length of pregnancy of 50 weeks?

\

(@) Ahuman has an average length of pregnancy of about 9 months.
Which other mammal also has an average length of pregnancy of about 9 months?

\
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21. Write the missing numbers in the boxes.

120mm s the same as cm

120cm s the same as m

120m  isthe same as km





image19.jpg
The table shows the average length of pregnancy for different mammals.

‘Mammal A:lal length
Dolphin 276 days
Horse 337 days
Seal 350 days
Whale 365 days
Camel 406 days
Elephant 640 days

Use the information in the table to answer these questions.

(@) Which mammal has an average length of pregnancy of 1 year?

\

(b6) Which mammal has an average length of pregnancy of 50 weeks?

(€)  Ahuman has an a

rage length of pregnancy of about 9 months.
Which other mammal also has an average length of pregnancy of about 9 months?

\
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15. Write the missing numbers in the boxes.

\

120mm s the same as. em

120cm  is the same as m

120m  isthe same as km
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6.

In America, there are coins each worth 25 cents.
These coins are called quarters because four of them make one dollar.

(@ Altogether, how many quarters make 3 dollars?

\7

(6 Laura has 20 quarters.
How many dollars is that?

(©) Dev wants to change 10 dollars into quarters.
How many quarters should he get?

\—
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Anna is making a cake.

(a) The scale shows how much sugar she uses.
How much sugar does Anna use?

(b) Anna uses 275g of raisins.
Draw the arrow on the scale to show 275g.

\

100 400
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(c) Anna put the cake in the oven at 11am.

She took the cake out of the oven after 3 hours.

At what time did she take the cake out of the oven?

(@) Lookat this diagram of the cake tin.

Tick (v) the correct name for the shape of the tin

\

Cube Cuboid Cylinder

Pyramid Cone
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19.

\

Here are two containers and the amounts they hold.

A

=

750 millitres.

B

05 ltre.

Which container holds the greater amount?

A

How much more does it hold'

Give your answer in millitres.

?

Not drawn
aurately

mililitres
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12, Here are two containers and the amounts they hold.

B
750 millitres. 0.5 litre

Which container holds the greater amount?
\ A B

How much more does it hold?

Give your answer in millilitres.

milliitres
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Here are three different number lines.

Show the position of 40 by drawing an arrow (}) on each one.
‘The first one is done for you.

0 100
TrT T T T T T T L B | T T T
o 200
[Trrrrrrrprrrrprrrrg =
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13.  Some people in a supermarket are shopping for food.

(a) 100g of cheese costs 46p.
Peter buys 250g of the cheese.

How much does he pay?

(o) Tins of beans cost 36p each.
What is the largest number of these tins John can buy with £2?
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14.

The arrow on this dial shows a speed of 20mph.

(@) Draw an arrow on the dial below to show a speed of 65mph.

(b) 160km/h is about the same as 100mph.
What speed in km/h is about the same as 25mph?

\—





image29.jpg
16. A jug measures in litres and in millilitres.

You can use the diagram to help you write the missing values below.
‘The first one is done for you.
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19. () Astraight piece of model car track is 20cm in length.

20cm

How many of these straight pieces are needed to make a 1 metre track?

\7

(b) A curved piece of track looks like this:

How many of these curved pieces are needed to make a complete circle of track?

\—
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Some people in a supermarket are shopping for food.

(a) 100g of cheese costs 46p.
Peter buys 250g of the cheese.

How much does he pay?

(b) Tins of beans cost 36p each.
What s the largest number of these tins John can buy with £27

\—
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‘The arrow on this dial shows a speed of 20mph.

(a) Draw an arrow on the dial below to show a speed of 65mph.

\

(b) 160km/h is about the same as 100mph.
What speed in km/h is about the same as 25mph?

\7
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A jug measures in litres and in mililitres.

You can use the diagram to help you write the missing values below.

The first one is done for you.

1

\ lire = 200

3 W= 500

m

ml
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11. (a) A straight piece of model car track is 20cm in length.

20cm

How many of these straight pieces are needed to make a 1 metre track?

\_

(b) A curved piece of track looks like this:

How many of these curved pieces are needed to make a complete circle of track?

\7
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22, Acookery book shows this conversion table.

Mass in ounces in grams
1 25
2 50
3 75
4 110
5 150
10 275

Use the table to explain how you can tell the conversions cannot all be exact.

\
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23.

\

Concorde could travel 1 mile every 3 seconds.

How many miles per hour (mph) is that?

=)

mph
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9. Zakhas some water ina jug.

He pours this water into the jug below.

Draw the correct level of the water on the jug.

\

milllitres
— 1000

{— 800
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20.

Lisa has some boxes that are all cubes of the same size.

She uses four of the boxes to make a pile with a height of 72cm.

She puts one more box on top of the pile.

72em

Work out the height of the pile of five boxes.

cm =
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14. Here is some information about a baby.

He was born on 2nd March 2005.
He smiled for the first time on 30th March 2005.
His first tooth appeared on 2nd December 2005.

(3) How many weeks old was the baby when he smilld for the first time?
() How many months old was the baby when his first tooth appeared?

\

months. —
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\

Here are the prices of doughnuts at two different shops.

T —
| 3 doughnuts for £2 | | 5 doughnuts for £3.50
1 want to buy 15 doughnuts.

In which shop are the doughnuts cheaper?
You must show your working.

Tick (v) your answer.

Shop A Shop B
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22 Thetable shows the stopping distances for a car at different speeds.

60mph 72 metres

(@ Look at the square grid below.
It shows the bar for the stopping distance at 20mph.

Use the same scale to draw the bar for the stopping distance at 40mph.

\

40mph
Stopping distance

(b) The bar for the stopping distance at 0mph will not it on the grid.
How many squares long should the bar be?
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12 Zak has some water in a jug.

litres

He pours this water into the jug below.

Draw the correct level of the water on the jug.

millilitres

— 1000

{— 800

— 600
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13. Lisa has some boxes that are all cubes of the same size.

She uses four of the boxes to make a pile with a height of 72cm.

She puts one more box on top of the pile.

72cm

Work out the height of the pile of five boxes.

\

cm
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5.

Here is some information about a baby.

He was born on 2nd March 2005.
He smiled for the first time on 30th March 2005.
His first tooth appeared on 2nd December 2005.

(a) How many weeks old was the baby when he smiled for the first time?
(b) How many months old was the baby when his first tooth appeared?

\

months.
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12 Here are the prices of doughnuts at two different shops.

Shop A Shop B
| 3 doughnuts for £2 5 doughnuts for £3.50 |

I want to buy 15 doughnuts.

In which shop are the doughnuts cheaper?
You must show your working.

Tick (v) your answer.
\ Shop A Shop B
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(a) Look at this scale.

50

0 100

What value is the arrow pointing to on the scale?

\

(b) Here is a different scale.
Draw an arrow (}) so that it shows the same value as the arrow
in part (a).
+ + + + | v

0 100
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13.  Thetable shows the stopping distances for a car at different speeds.

20mph 12 metres
40mph 36 metres |
60mph 72 metres |

(@) Look at the square grid below.
It shows the bar for the stopping distance at 20mph.

Use the same scale to draw the bar for the stopping distance at 40mph.

20mph | |

\

40mph

i

Stopping distance

(b) The bar for the stopping distance at 60mph will not fit on the grid.
How many squares long should the bar be?
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9.

In this question you need to know:

Jo's birthday is June 5th. |

(a) Sanjay’s birthday is exactly three weeks after Jo's birthday.
On what date is Sanjay’s birthday?

(b) Tina's birthday is § months after Jo's birthday.
In which month is Tina's birthday?
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4. 2tins balance 1 bottle.

U

. U

(a) How many bottles do 6 tins balance?

(b) How many boxes do 6 tins balance?
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15. (a) Look at this information about recycling:

25 large plastic bottles can be recycled to make 1 fleece jacket.

Write the missing number in this sentence.

\

200 large plastic bottles can be recycled to make —_ fieece jackets.

(b) Inasurvey, 9 out of 10 people said thay would ke to recycle more.
What percentage of people said they would like to recycle more?

\7
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19.

The table below helps to change centimetres into inches.

\ Number of centimetres 2 4 6 8 10 | 12

Number of inches (approximately) | 0.8 | 1.6 | 2.4 [ 31 | 39 | 47

About how many inches are there in 14 centimetres?

inches
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In a school, lessons are 55 minutes long.

(a) A maths lesson starts at 9:15am
At what time does the lesson end?

(b) A history lesson ends at 3:30pm
At what time does the lesson start?

(©) Lunch break is 1} hours long.
Lunch break ends at 1:30pm

At what time does it start?

am
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(@)

(®)

Look at this information about recycling:

25 large plastic bottles can be recycled to make 1 fleece jacket.

Write the missing number in this sentence.

200 large plastic bottles can be recycled tomake ____ fleece jackets.

In a survey, 9 out of 10 people said they would like to recycle more.
What percentage of people said they would like to recycle more?

\—
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The table below helps to change centimetres into inches.

12
a7

‘About how many inches are there in 14 centimetres?

inches. —
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25. (@) Every day a machine makes 500 000 drawing pins and puts them into boxes.
The machine needs 150 drawing pins to fill a box.

How many boxes can be filled with the 500 000 drawing pins?

(b) Each drawing pin is made from 0.23g of metal.
How many drawing pins can be made from 1kg of metal?

drawing pins
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26 Here are some exchange rates.

£1 = 2.03 American dollars

£1 = 2.15 Canadian dollars

Use the exchange rates to answer this question.

How many more Canadian dollars than American dollars would you get for £2507

\
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10. (a) The thermometer shows Alan’s temperature.

35 36 37 38 39 40 a 42 °C

Alan’s normal temperature is 37.0°C
How many degrees higher than normal is Alan’s temperature?

T mark

(b) On Monday morning, Bina’s temperature was 39.2°C
By Tuesday morning, Binas temperature had fallen by 1.3°C

What was Bina’s temperature on Tuesday morning?

1 mark
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22.

\

One recycled glass bottle saves enough energy to power
acomputer for 25 minutes.

How many recycled glass bottles save enough energy to power
acomputer for 10 hours?

bottles.
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(c) You can measure temperature in °C or in °F

The diagram shows how to change °F to °C

Subtract 32,

then multiply the answer by 5,

then divide by 9

The highest temperature ever recorded in a human was 115.7 °F

What is this temperature in °C?

Show your working.

\

2 ke
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18. (a) A glass holds 225ml.

An adult needs about 1.8 litres of water
each day to stay healthy.

How many glasses is that?

Show your working.

(b) An adult weighs 80kg.
60% of his total mass is water.

What is the mass of this water?

kg

225ml
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5. (a) The thermometer shows Alan's temperature.

3% 36 37 38 39 40 41 42 °C

Alar °C

How many degrees higher than normal is Alan's temperature?

normal temperature is 37,

(b) On Monday morning, Bina's temperature was 39.2°C

By Tuesday morning, Bina's temperature had fallen by 1.3°C

What was Bina's temperature on Tuesday morning?

\ c





